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QUESTION 1

Given:

public final class X {
private String name;
public String getName() {
return name;

}
public wvoid setName (String name) {
this.name = name;

}
public String toString() { return getMame{}; }
}
and
public class ¥ extends ¥{
public ¥ (String nama) {
supear|);

sotMame (name) ;

}
public statie woid main (String... args) |
Y ¥ = new Y({"HH"):
Systam.out.println{y);
i
}
What is the result?
A. The compilation fails.
B.Y@>
C. Null
D. HH

Correct Answer: B

QUESTION 2

Given:
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public class Main {
private String[] strings = {"ABCDEFGHIJRILMNOPQRSTUVWEYZ",
"abcdefghijklmnopgratuvwxyz", "0123456789"};
public void write(String filename) {
S line 1
for (String str: strings) |

ByteBuffer buffer = ByteBuffer.wrap (astr.getBytes(}):
fileChannel . write(buffer):;

}

}catch (TOException a) {
a.printStackTraca () ;

}

}

public static woid main(String([] args) {
Main test = naw Main();
test.write("file tec path™);

}

You want to obtain the Filechannel object on line 1. Which code fragment will accomplish this?

A

try (FileChannel fineChannel = Channels.newChannel (new FileQutputStream({filename)}:;) {

B. try(Filechannel fileChannel = new FileoutputStream(filename).getChamnel ():} {

C. try (FileChannel fileChannel = new FileOutputStream (new FIlaChannel (filename)):) {
try(FileChannel filseChannel = new FileChannel (new FileCutputStream{Zilenama)):} |

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A

QUESTION 3

Given TripleThis.java:
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6. dimport java:util.function.*;

7. public class TripleThis {

g public static void main{8tring[] args) {

g Function tripler = x -»> { return (Integer) x * 3; }:
10. TripleThis.printValus {tripler, 4):

11. }

12 public static <T> void printValue (Funetien £, T num) |
13 System.out.printin{f.apply (num)) ;

14 }

15 }

Compiling TripleThis.java gives this compiler warning:

Note: TripleThis.java uses unchecked or unsafe operations.

Which two replacements done together remove this compiler warning?

A. Replace line 12 with public static void printValue(Function f, int num) {

B. Replace line 12 with public static void printValue(Function f, T num) {

C. Replace line 9 with Function tripler = x --> { return (Integer) x * 3; }

D. Replace line 12 with public static void printValue(Function f, Integer num) {
E. Replace line 9 with Function tripler = x -> { return x * 3; }

Correct Answer: AD

QUESTION 4

Which is the correct order of possible statements in the structure of a Java class file?
A. class, package, import

B. package, import, class

C. import, package, class

D. package, class, import

E. import, class, package

Correct Answer: B

QUESTION 5

Given the code fragment: What is the result?
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8. public class Test |

9, private fimal int x = 1;
10. static Final int v;

11, public Test () {
12, System.cut.print (x);
13 System.out.print (yv)
14, }

15 public static void main(string argsl]) {
16. new Test();
17. }
13. 3
Al

B. The compilation fails at line
C.10

D. The compilation fails at line 16.
E. The compilation fails at line 13.

Correct Answer: E
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